R#7FA~ #EFFE A 01

BER 2 D% argz ERT (BMIE 7P 7 V). Efa, B,y LT, arger =a, argze =8, argzs =7 £ T5 L &,
ROAXEFEEPo, B,y HWTEE. b LRERWVLESIFHIC x EFHSZ L.
(SHh52%, Af14r40%, B35y, C#555)

(1)  arg5 (2)  arg(—4i) (3)  arg (V3+1)

(4)  arg(2z) (5)  arg{z(1+1i)} (6) arg %

(7)  arg(z + 2) (8) arg i—; (9)  arg(z- 2" 23)
(10)  arg z§,123 (11)  arg % (12)  arg %
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2. BEH:ORMAEZargz ERT (HMIF TP 7 V). FEa, B,y L T, argzi =a, argre =8, argzs =7 £ T35 ¢ &,
ROAXE FEE o, B,y FlIWTEE. b LBRERVLEZITHIC x EHSZ L.
(SH14r15%, Af24r, B33 408, C#64r)

(1)  arg(—5) (2)  argi (3)  arg(—V3—1)

(4)  arg(—22) (5)  arg {z1(1+3i)} (6) arg =L

(7)  arg % (8)  arg(z1 — 2) ) arg %
(10)  arg flzz (11)  arg (14;% (12)  arg ﬁ
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R&TFAL #FFEH RA 01 ESHES

BER 2 D% argz ERT (BMIE 7P 7 V). Efa, B,y LT, arger =a, argze =8, argzs =7 £ T5 L &,
ROAXEFEEPo, B,y HWTEE. b LRERWVLESIFHIC x EFHSZ L.
(SHh52%, Af14r40%, B35y, C#555)

Im o+ yi BFEH 2= +yi (i FBEAL , 2,y 1FFEB) KL TRDOZ EZERT 5.
Yy * ERBORA argz=20
R 2 DIz argz ERT. (L2520 H5.)
0 BFEE - DRRAIEE EKICE TS 0 TH Y, IEE BEEEL S Z2HnTh L.
O 'z Re 741X Z DRIDIETICHES 2 k. S 2 CIREIFAZ 0< 0 < 27 & L7725, —180° < 0 < 180° &
LTH &,
* RADETHE arg (z1* z9) = arg z; + arg 2o arg z—l =argz; — arg zs

2
WEEROBITEE T L CORERE EEZ 2 ENTE 3.

(1) argh (2)  arg(—4i) (3) arg(V3+i)
6
(4)  arg(2z) (5)  arg{z(1+1i)} (6) arg %
= arg2 + arg z =argz +arg(l+1i) =argz — argi
-0 - - m —a-T
+o=« o+ 1 o 2
(7) arg (z1 + 22) (8) arg i—l (9) arg (z1° 22° 23)
2
X = argz; — arg s = arg z; + arg zs + arg zs3
—a-p =a+B+y
(10)  arg - i 12 Atz
oy (11)  arg - (12)  arg .
= argz; — (arg z2 + arg 23) = arg? + argz; — arg 2o X
=a—fB—7v = % +a-—-p
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2. BEH:ORMAEZargz ERT (HMIF TP 7 V). FEa, B,y L T, argzi =a, argre =8, argzs =7 £ T35 ¢ &,
ROAXE FEE o, B,y FlIWTEE. b LBRERVLEZITHIC x EHSZ L.
(SH14r15%, Af24r, B33 408, C#64r)

(1) arg(—5) (2) argi (3) arg(—v3—1)
™ 7
=TT = — = —TT
2 6
(4) arg (—2z1) (5) arg {21(1 + \/31)} (6) arg %
=arg (—2) + arg z; = arg z; +arg (1 + /3i) = arg z; — arg (—1)
=Tta =a+ % =a — %71’
- S
(1) arg = ®)  arg(z1—2) () arg 2%
21 23
=arg2 — arg 21 X = arg z1 + arg zo — arg z3
=0—« e Xs —|— ﬂ -y
=—a
(10)  arg —=L (I+i)z (12)  arg —122_
1—2 (1) arg ——— 3—V3i
X = arg (1 +14) + arg 2, — arg 2 = arg z; + arg zp — arg (3 — v/31)
11
=gt p Satpo g
T
=atB+
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